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(a) Differentiate each of the following with respect to x and simplify your answers.

6.
(D ex-3 i) »*lx (i) (322 +2)* [81
iting tan x = s show that L.} (tan x) = sec?x. [3]
(b) By first writing -k .
tx= [3]
(c) By first writing y = tan! x as x = tan y, show that o= (tan' x) = T2
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/6. Differentiate the following with respect to x, simplifying your answers as much ag
" possible. : :
(a) e"sinx
2x* -4
o x*+3
i ) ECNONE
'8 (@  Giventhaty = tanlx, show that
dy 1
a1 3]
()  Differentiate. In(x* + 1) with respect to x. : 2]

(c) Use the results derived in (a) and (B) to find

J‘3+x " ”

1+x?




